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*��+� 

��%���&�'(�ก���#�'�)����������&�'ก���)���	*��������+�#� '&����,���ก�ก��(����� �-#(�������&������&�'
����&���. ��%���,.���*���������/ก�����ก�0��,��'ก���1��ก���+����2�'��ก34ก5���3�ก���3����0������
6
��ก*�#  
�)������������'''��-& 7-#�2�����8�&��&��9�&��+�
�)������2#�*6(�����
�#��:���
�#�� ��.'*��&��2�'�;5<�+�

ก����ก+�� ก/�'=����6
�)�*�#7-#�&��������(�&���*� 

�����&�9(�(8#��� �-#����
������&�'�=��'�#�!  
�)�������,.���*�������. 6
�����6�ก���2#����7-#�2�����8�&��������)���?��ก�����8 ����ก/�,�ก<ก�������ก50ก)���'

'�� 
8��#�7-#�&���������)������2#�*6ก<8�'ก�&��(8#�&�'+�#+�#� ก/6
��������
��8��
�&�ก����,.���*����2#�
��8(�(8#��&�'(�&��ก��/� �&�6�ก���2#�+�ก 6
��%�ก����'�)�ก����ก+��ก����ก)���'������=��/����0=�� ก)���'���
6&��
8�+��&'6&��(A8�B� ก)���'�-?��������ก�824.� (power dissipation) ���86���
���P�Q�= (power efficiency) 
2�'�'6�2���ก)���'  �=,��(�&*�#�������������'8-=�#��ก��(����
���2#� ����
���� 

 

ก(ก�������ก'!ก+���##�� [1] 
=�6���	���/�ก(8�
+ก���-���� 1 +�8'�'6�2�������-ก�1��8#�����=�������%�+��&'ก)����8��??�	(B�-

B��80 
8���??�	����0=�����(8#��.6
�-ก�������&�����ก5	
���,��ก��ก����??�	���=����ก��
ก�� +�
+�ก�&�'
ก�����2��8��&���.� ก)���'����0=���&��*�?&6
�-ก�&'��6�ก+��&'6&��ก)���'(A8�B� B4�'�)���#����6&��(A���.�'*�#ก���'6�  
�����'��8-ก��������
�0�'6�8�'ก�&���=,��6
�)�(��-&ก����ก+��*����2#��&�9(� 

 
�-���� 1 ��/�ก(8�
+ก��+�8'�'6�2��� 

6�กก<ก�������ก50ก)���''������&� Uก)���'���6&��6
�#�'���&���&�ก��ก)���'��������,��-ก8-8ก�,� V 
8�ก)���'���6&��

6
��
ก��8#�� ก)���'������=�� ( )IP ���ก�� ก)���'6�ก+��&'6&��(A8�B� ( )SP +�
ก)���'��������,��-ก8-8ก�,��,� ก)���'

�-?��������ก�824.� ( )dissipationP  ��กก��ก)���'�������0=�� ( )LP  B4�'ก)���'��.' 4 �����. ������+�8'�������=��P0
8��2���
��%���ก��8�'��. 

  ( )S S CC CCp CCn dissipation O Ov i V i i P v i+ + = +      (1) 
6�ก��ก����� 1 ก��������6
��ก�&� �'6�2���ก)���'������ก)���'��*6��-&��.� �����-ก�)�(�*�#'��+�#�6
�&��

��
���8(A*�#���(8#��,�(�& ���6
8-���=���������0�������ก�&� U��
���P�Q�=V B4�'�����8�'��. 
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L

S I

P

P P
η ≡

+        (2) 

 ก)���'���6&��
8����=�� ( )IP 
8�����(�6
�-ก�
��� ��,��'6�ก���&��#��ก�&�ก)���'���6&��
8�+��&'6&��(A8�B�
��ก 6�ก��ก����� 2 6
(8#�&�  

   
L

S

P

P
η =

        (3) 

��
���P�Q�=����-'( η �2#�*ก�# 1 ) ���������&� ก)���'������กY�������0=�� ( )LP 6
���&��2#�*ก�#ก)���'���6&��


8�(A8�B� ( )SP ������' +�
�#��#��ก���(������ก����� 1 ��ก�� 6
��/��&��#�η ���&��2#�*ก�# 1 ก)���'�-?��������ก�824.�ก/6

���&��#�����(�8#�� ��,�ก�&��(8#��ก��&�'�&� �'6�(����
���P�Q�=�-'ก�&�ก/6
��
���8�&�(Aก�&� �
(��)���'��.�  
ก<ก�������ก50ก)���''�� ������*�#(8#ก���'6���ก�'6� (�&6)���%��#�'��%��'6�2��� +�&�����/��&����ก6
*�#ก��
�'6�2��������ก��6&��+�
���ก)���''������-'  �������กก������(��&� U �'6�2���ก)���'V �)������'6�2�����
�Q���. 
��
���P�Q�= �,��&���%�=���������0����������)���?��%���&�'��ก B4�'����7�ก/��%�8�'���(8#ก�&��(�#+�#�ก&����#���.  
�#�:.7-#�2����ก,��6
�,�B
+�#� ก)���'��.'��8���ก�&������.  �#�'��%�ก)���'�������
����! �#�(�&������0�
ก/ 7-#�2���6

�P����*�# ��'8-��ก��2�'ก)���'������2#�'�&�' 8�'��. 

   0

1
( )

T

P p t dt
T

= ∫         (4) 


8���� ( ) ( ) ( )p t v t i t=  B4�'+�'8��+�
ก�
+� 6
�������&���%���??�	(B�-B��80������A���'ก��(
��8��%����
�#�����) B4�'����ก��8�'��. 

   

( ) ˆ cos( )

ˆ( ) cos( )

m

m

v t V t

i t I t

ω

ω

=

=       (5) 

��,�� ˆ
mV +�
 ˆ

mI �,�+�����6-82�'+�'8��+�
ก�
+�����)�8��  6�ก��.�+����ก����� 5 �2#�(�*���ก����� 4 
���6
(8#ก)���'�������)�����
��8�����%�����#�������&�ก��  

   
1 ˆ ˆ
2

m mP V I=
       (6) 

ก���)���	��ก)���'����������,��9 ���+�'8��+�
ก�
+�����ก�����,��ก��ก����ก����� 5 �����&�'��&�ก)���'

���������6&��
8����=�� ( )Sv +�
ก)���'����������-ก8-8ก�,�
8�
��8 ( )LR 6
�2���*��-��8���ก����ก����� 6 8�'��. 

ก)���'���6&��
8� ���=���,� 
1 ˆ ˆ
2

S s sP V I=
+�
ก)���'����-ก8-8ก�,�
8�
��8 �,�  

   

2ˆ1 ˆ ˆ
2 2

o

L o o

L

V
P V I

R
= =

      (7) 
 

��&��������&� ( ) 1cos(2000 )Sv t tπ= +�
 ( ) 0.05cos(2000 )Si t tπ= 6
(8#�&�ก)���'���������6&��
8����=�����&�

��&�ก�� 
( )1
1 (0.05) 25mW

2
SP = =
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��'��,���ก�������������)���?��%���&�'��ก(����ก����ก���&�(A���6
�#�'6&��  �
B�!) �����,�ก)���'���������6&��

8�+��&'6&��(A8�B�  
8�����ก��8�'��. 

   
( )

0

1
[ ]

T

S CC CCP V i t dt
T

 
=  

  
∫

       (8) 
��ก����� 8 7-#�&��6
��'�ก���/��&� ก�����&���������,�ก��������ก����.� 6
ก�
�)����7�����
��&�' ก�
+����

(����ก6�ก+��&'6&��(A��ก ก�� ก�
+����(���2#�+��&'(A����&���.�  
8����+��&'6&��+�'8��(A8�B� ( )CCV  ��.�(�&(8#
���&���ก����2#�'���(�-ก84'��ก����ก�'��/�)  B4�'7���=P0���(8#6�ก��ก����� 8 6
24.���-&ก����ก5	
+�
�-��&�'2�'

ก�
+���.'��' (�-ก�������ก����-&2#�'*�) �����&�'��&� �#���%��'6�2���ก)���'���� �� ก�
+� CCi 6
����ก5	
8�'
�-���� 2 

ˆ
CCI

 
�-���� 2 ก�
+����(���2#�+�
��ก6�ก+��&'6&��(A*��'6�2������� �� 

 

�-����2 �������2�����%���ก��(8#�,� ( ) ˆ cos( )CC BIAS CCi t I I tω= + B4�'��,���)�(�+��*���ก����� 8 6
(8#7�ก��

������ก��'&��9��%�ก�
+�(���� ( )BIASI   8�'��.�6
(8#ก)���'���������6&��
8�+��&'6&��(A�,� 

   S CC BIASP V I=        (9) 
�#�(�&�2#�*62�*�#�4ก�4'ก�
+���??�	�-�(B�-B��80���'24.��'���ก�
+�8�B� ������+�#�(8#ก
+�8�B�*�&(�� 
 

ก����ก)**�# ��	�	ก+���#���� �� 

��%���&�'(��#�'  �2#�*6��,��&�''ก������?  8-�&�(���,���9�
���� ��&��=��'���ก�&��  �����.�����'���8���
�����2#�*6ก��8�ก�&�   ���7-#�2������ก*�#7-#�&����'�)��,� ก����ก+���'6�2���ก)���'���� ��ก�� �'6�������*�# ก/
(�&*�&*���,�� 7-#�&����
��=��6���ก&����#���.+�#�*���������&���� 5 +�
�=,��*�#'&���&�ก���&�� 7-#�2���2����?��
+�8'�'6�8�'ก�&��*�#��/���ก���.'8�'�-���� 3 
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+VDD

vs

RS

RF

IBIAS

vo

RL

CG

CD

io

Rin

RVar

Rout

 
 

�-���� 3 �'6�2���������6�ก������������+�#� 
 

�'6�*��-���� 3 (8#�=�������#����������&�(8# varR  �2#�(� �=,���)���#��������+�'8��8�B� GSV +�
 DV *�#(8#���
�#�'ก�� 
8��'6��8����.�+�'8�����2�.��ก�6
���&���&�ก��+�'8�����2�.��8��  B4�'���&��#���ก��(� �)�*�#��??�	����0=��
B�ก���-ก���� 

 
�+�,�� 6'*�#�'6�*��-���� 3 ��ก+���'6�2���ก)���'*�#(8#����0=����&�ก�� 25 W ���
��8 8 Ω 
8��'6���

�����2���+�'8�� ( )vA ��&�ก�� -5 ����A�*�#����0 IRF 240 ��=���������08�'��. 
' 2

20.82 A/Vnk u= , 3.814VtV = ,
440 mmW =  +�
 2 mL µ=  

��3
�+�  

1. ���5�)��5# 5�	�� ( )DDV  

6�ก�-��*���ก����� 7 �,� 

2ˆ

2

o

L

L

V
P

R
=

+���&� 25WLP = +�
 8LR = Ω  �2#�(�6
(8# 

                                                       
( )( )

max
ˆ 2

2 25 8

20 V

o o L LV v P R= =

=

=  
�
��' !    ��??�	����0=���#�'��ก�����'��&�ก�� 20 V �4'6
(8#ก)���'�������0=����&�ก�� 25 W �
���� +�


��,��'6�ก�'6�*��-���� 2 *�#+�&+��&'6&��(A��ก�=��'��&�'�8��� 8�'��.�+�'8��(A8�B����2�.��8��ก/���6
���&���&�ก��

��4�'��4�'2�' DDV  ��,�ก�&��(8#�&�  &
ˆ

2

DD
o D

V
V V= =

 �=��
�
��.�+��&'6&��(A8�B�6
���&���&�ก�� 40 V  

2. ���5�ก��)��*��� ( )BIASI  

=�6��	��'6��-���� 3  

���(A8�B�  6
��/��&�ก�
+�(����(���2#�(����2�.��8��+�#�ก/6
+�ก��ก��%�ก�
+����(��7&������#����� FR   

+�
ก�
+��8�� *�ก����ก+�����6
ก)���8*�#ก�
+����7&������#����� FR ���&��#��ก�&�ก�
+��8����ก 8�'��.�
6
(8#�&� 
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     BIAS DI I≈  
 
���(A���� (��,������1����??�	�2#�(�������=��) 6
��/��&�ก�
+����(��7&��2�.��8��6
��ก���������+��'

�=���24.�+�
�8�'������=�� 
8�����ก��	08�'ก�&��6
�ก�8ก��ก�
+����(��7&��
��8��&�ก��+�&����3��'ก��2#�� 
8�
7����2�'ก�
+���.'��'�#�'�'�����&�ก��ก�
+�(���� 8�'��ก�� 

     BIAS D oI i i= +  
ก�
+� Di  ��%�ก�
+�����
��&�'(A8�B� D BIASI I=    +�
 ก�
+����� di 
8��������2	
��4�' �#�ก�
+�

8�'ก�&�����&��=���24.� ��������8���ก�� ก�
+����� oi 6
�8�' ��,�=-8*�#�2#�*6'&��ก/�,� ก�
+���.'��'6
���A���'ก��
2#�� +�&��2��8��&�ก�� 8�'+�8'*��-���� 4(ก) +�
 (2) 

          t

iD

IBAIS

0

id

oI
∧

                     

oI
∧

 
                                              (ก)      (2) 

�-���� 4 ก�
+����(��7&��2�.��8�� (ก) +�

��8 (2) 
 

�������ก�
+�(����ก��8�ก�&� �����6�ก��ก�� 
o

o

L

V
I

R

∧
∧

=
+���&� oV

∧

����-'�����8 B4�'�ก�824.����   

ก)���'�������0=�����&��-'��8( 25 W )  6�ก2#�1 6
(8# max
20Vo oV v

∧

= = �=��
�
��.�  

  
max

20 V
2.5A

8
o oI i
∧

= = =
Ω  

ก�
+�8�'ก�&��6
��%��&��-'��8����'6��#�'ก�� 
8����+��&'6&��ก�
+�8�B� BIASI 6
�#�'6&��*�#(8# +�
ก/(�&��

ก�
+��
(����6
���&��-'ก�&���.��ก+�#� �=��
�
��.� BIASI ��)������8��������,�ก �,�  2.5 A  +�
�=,��*�#'&�� 7-#�2���2�
��,�ก�&���. �)�����7-#�&���&��*8 �#�'ก��6
*�#�&������กก�&���.ก/��,�ก����
8�ก�
���� +�&(�&���6
��,�ก�&�����-'ก�&�
�&���.��ก �=��
6
�)�*�#��
���P�Q�=��)��'(8-��ก�����  9) 

3. ���5�)�#7�� GSV  ����
$����� FR )�� var
R  

�#�ก�
+�(���� 2.5A +�ก(��(��������#����� FR  ก�� var
R ���&���&�ก�� 10mARGI = B4�'�#����ก��,�������

ก�� 2.5A - 10 mA 2.49 A=  ���(��7&��2�.��8�� 6�ก��ก��[2] 

    
( )

'
2

2

n
D GS t

k W
I V V

L
= −

 
+���&� 2.5ADI =  +�
 =���������02�'����A� 6
(8#�&� 
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�
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( )

2
220.82 A/V 440

2.5A 3.814
2 2

GS

mm
V

m

µ
µ

  
= −  

    
�=��
�
��.� 4.843VGSV =  

6�ก��.��)�ก����7����2�' FR  ก�� var
R B4�'6
+��8#�� GR +�
6�ก 

D
G

RG

V
R

I
=

6
(8# 

    
20V

2kΩ
10mA

GR = =
 

+�&����-#�&�+�'8�� GSV +�#� B4�'���&���&�ก�� var
4.843VRGI R = +���&� 10mARGI = 6
(8# 

    var
484.27R = Ω   (*�#�&� 470Ω  )          

+�
6
�)�*�#���(8# FR ���&���&�ก��     2 k 484.27 1.52 kΩFR = Ω− Ω =   (*�#�&� 1.5 kΩ  ) 

4. ���5�����
$������
9)��5# 5�	��::�� ( )sR  

ก���(����������������� 5 �#�����#�'ก���������2���+�'8��2�'�'6�*��-���� 3 �������)�(8#
8�*�#�-��  

    
F

v

S

R
A

R
≈ −

            (�#� 1AB >>  )      

+���&� vA (6�ก
6��0)  +�
 FR  ����)���	(8# 6
(8#
1.52k

303.15
5

F
S

v

R
R

A

Ω
= − = − = Ω

−  (*�#�&� 300Ω   ) 
 
��%�����&�6�2���ก����ก+��+�&�=��'��&���. �'(�&��ก�ก��(�*�&(������ �#��ก,���,�! 7-#�&����'�&���'

�'����&� ��:.+�#�6
�-#(8#��&�'(��&�',���(2 1AB >> ��%�6��'��,�(�& �)����ก/�,� ��'ก���(������,.���*�������

�������+�#� 6�ก��.���'�)�ก���)���	8- 6
(8#�&�8�'�&�(���.  4.78mg = Ω , 6.2kA = − Ω , 4.13AB = , 1.21 kfA = − Ω ,
4.03 V/VvA = − , 163.19iR = Ω , 31.78ifR = Ω , 7.96oR = Ω , 1.55ofR = Ω +�
����)���?��%���&�'���'�,� 35.55inR = Ω

+�
 1.92outR = Ω B4�'���&���)���ก��,�������ก�� sR +�
 LR �)�*�#(�&�ก�8ก��
��8��.'������=��+�
����0=�� 
��&��8���
���� ��,����ก+�����/6+�#� ก/�4'�������6
�#�'�&��'6��8��'��87�ก�� +�&��������,��'�,����*�#

+��ก���&��'6���-&*��,�+�#���� �-#(���,��
(�����? ก/
��+ก�� PSpice (' ��#�..��'8-�'6�+�
7�ก��6)���'(8#*�
�-����5-8 
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�-���� 5 �'6�2���ก)���' 25 W +�
7�ก��6)���'���(A8�B� 

 
 

�-���� 6 7�ก��6)���'*�
8����������2�'�'6�2���ก)���' 25 W 
 

 
 

�-����7 7�ก��6)���'*�
8�������2�'�'6�2���ก)���' 25 W 
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�-����8 7�ก��6)���'��8ก)���'����-ก8-8ก�,��������0=�� +�
���6&��
8�+��&'6&��(A 
 

6�ก7�ก��6)���'����(8#8�'��. 6�8�)�'����8+�'8�� GSV +�
 DV (8#��&�ก�� 4.87 V  +�
 20.41V ����)�8�� 

��8ก�
+� DI  +�
 RGI (8#��&�ก�� 2.49 A +�
 10.36 mA ����)�8�� 7�������'�������*�#'��(8#*��&�'�����������' 

ก�&���,���8(8#6�ก 13Hz 514kHz−  �)�����
8������� �)�ก���1�����=��+�����6-8��&�ก�� 3V �������10 kHz  �2#�

(� ��8�����2���+�'8��(8#��&�ก�� ( )12.28V / 3V= -4.1 V/V− B4�'���&�*ก�#����'ก���&�6�กก����ก+�� +�
��8�#��6

��%�ก)���'������������กY���
��8+�
ก)���'���6&��
8�+��&'6&��(A8�B� 7�ก��6)���'��8�&�(8#��&�ก�� 8.9 W +�
 100 W

����)�8�� B4�'�#��)���	
8�*�#�-��*���ก����� 7 +�
 9 6
(8#�&����*ก�#����'ก��  
��������2���,��7-#�2���(������   6
�
(�B
��ก ก/������6������������.(8# �-#(����������)�*�#7-#�2���

�����8+�
�8���(������,� �)���������&�(�6
�)�ก����ก+��+��&'6&��ก�
+�+�
+��&'6&��(A8�B� ��&��,�
��8����&��*�#(8#�
2���� �j�����:.   

 
+��6)���'2�'����A�����0 IRF 240 *�#�)��������
��+ก�� PSpice  
.model IRF240 NMOS(Level=3 Gamma=0 Delta=0 Eta=0 Theta=0 Kappa=0.2 Vmax=0 Xj=0 
+  Tox=100n Uo=600 Phi=.6 Rs=5.466m Kp=20.82u W=.44 L=2u Vto=3.814 
+  Rd=97.84m Rds=888.9K Cbd=1.813n Pb=.8 Mj=.5 Fc=.5 Cgso=1.977n 
+  Cgdo=490.5p Rg=3.604 Is=5.191p N=1 Tt=312n) 
*  Int'l Rectifier pid=IRFC240 case=TO3 
*  88-08-25 bam creation 
*$ 
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